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X-sect = 0.000E+00(pb) AVG = 9.900E-01 RMS =5.421E-20
Tot # Evts = 49992 Entries = 49992 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 9.900E-01 RMS = 0.000E+00
Tot # Evts = 49994 Entries = 49994 Undersc= 0 Ove
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# particles

X-sect = 0.000E+00(pb) AVG =2.474E+00 RMS = 1.447E+00
Tot # Evts = 49992 Entries = 49988 Undersc = 0 Over

X-sect = 6.457E+01(pb) AVG = 2.280E+00 RMS = 1.330E+00
Tot # Evts = 49994 Entries = 49994 Undersc= 0 Ove




# events,/bin
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# particles

10

X-sect = 0.000E+00(pb) AVG =5.917E-01 RMS =6.767E-01

Tot # Evts = 49992 Entries = 49992 Undersc= 0 Over
X-sect = 6.457E+01(pb) AVG =5.573E-01 RMS = 6.580E-01
Tot # Evts = 49994 Entries = 49994 Undersc= 0 Ove




# events,/bin
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T IIII‘
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il IIII|
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—_
O

X-sect = 0.000E+00(pb) AVG =1.470E+00 RMS = 8.996E-01
Tot # Evts = 49992 Entries = 49992 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.627E+00 RMS = 8.449E-01
Tot # Evts = 49994 Entries = 49994 Undersc= 0 Ove




# events,/bin

104

109

TTTH

[N
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—_
O

X-sect = 0.000E+00(pb) AVG =3.179E-01 RMS =5.541E-01

Tot # Evts = 49992 Entries = 49992 Undersc= 0 Over
X-sect = 6.457E+01(pb) AVG = 2.520E-01 RMS = 4.938E-01
Tot # Evts = 49994 Entries = 49994 Undersc= 0 Ove




# events,/bin
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O

X-sect = 0.000E+00(pb) AVG =6.955E-02 RMS = 2.671E-01

Tot # Evts = 49992 Entries = 49992 Undersc= 0 Over
X-sect = 6.457E+01(pb) AVG =6.293E-02 RMS = 2.539E-01
Tot # Evts = 49994 Entries = 49994 Undersc= 0 Ove




# events,/bin
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1000

X-sect = 0.000E+00(pb) AVG = 3.613E+02 RMS = 1.646E+02
Tot # Evts = 49992 Entries = 49320 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 3.165E+02 RMS = 1.265E+02
Tot # Evts = 49994 Entries = 49875 Undersc= 0 Ove




# events,/bin
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X-sect = 0.000E+00(pb) AVG =8.521E+01 RMS = 5.056E+01
Tot # Evts = 49992 Entries = 48184 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 7.383E+01 RMS = 3.960E+01
Tot # Evts = 49994 Entries = 49819 Undersc= 0 Ove




# events,/bin
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100 200 300

400

X-sect = 0.000E+00(pb) AVG =9.277E+01 RMS = 6.287E+01
Tot # Evts = 49992 Entries = 46883 Undersc= 1 Over

X-sect = 6.457E+01(pb) AVG =7.783E+01 RMS =4.718E+01
Tot # Evts = 49994 Entries = 46701 Undersc= 0 Ove




# events,/bin
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100 200 300 400

X-sect = 0.000E+00(pb) AVG =5.342E+01 RMS = 4.208E+01
Tot # Evts = 49992 Entries = 37019 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =4.541E+01 RMS = 3.166E+01
Tot # Evts = 49994 Entries = 35400 Undersc= 0 Ove




# events,/bin
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100 200
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X-sect = 0.000E+00(pb) AVG = 3.286E+01 RMS = 2.477E+01
Tot # Evts = 49992 Entries = 22064 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =2.888E+01 RMS = 1.917E+01
Tot # Evts = 49994 Entries = 19447 Undersc= 0 Ove




# events,/bin
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X-sect = 0.000E+00(pb) AVG =9.170E+01 RMS = 6.215E+01
Tot # Evts = 49992 Entries = 24197 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 7.586E+01 RMS = 4.540E+01
Tot # Evts = 49994 Entries = 23320 Undersc= 0 Ove




# events,/bin
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X-sect = 0.000E+00(pb) AVG = 6.445E+01 RMS = 4.798E+01
Tot # Evts = 49992 Entries = 4965 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =5.150E+01 RMS = 3.242E+01
Tot # Evts = 49994 Entries= 4381 Undersc= 0 Ove




# events,/bin
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100 200 300 400

X-sect = 0.000E+00(pb) AVG =5.282E+01 RMS = 3.874E+01
Tot # Evts = 49992 Entries = 42863 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =5.748E+01 RMS = 3.912E+01
Tot # Evts = 49994 Entries = 46032 Undersc= 0 Ove




# events,/bin

101

100 200 300 400

X-sect = 0.000E+00(pb) AVG = 2.644E+01 RMS = 2.154E+01
Tot # Evts = 49992 Entries = 24439 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =2.763E+01 RMS = 2.188E+01
Tot # Evts = 49994 Entries = 28055 Undersc= 0 Ove




# events,/bin

100 200 300

400

X-sect = 0.000E+00(pb) AVG =1.137E+01 RMS = 8.827E+00
Tot # Evts = 49992 Entries= 5571 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.153E+01 RMS = 8.987E+00
Tot # Evts = 49994 Entries= 6486 Undersc= 0 Ove




# events,/bin

101
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R | WH”WHHBO@E

100 200

X-sect = 0.000E+00(pb) AVG =4.043E+01 RMS = 2.810E+01
Tot # Evts = 49992 Entries = 13786 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =4.043E+01 RMS =2.761E+01
Tot # Evts = 49994 Entries= 11301 Undersc= 0 Ove




# events,/bin
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100 200 300 400
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X-sect = 0.000E+00(pb) AVG =2.222E+01 RMS = 2.633E+01
Tot # Evts = 49992 Entries= 3318 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.366E+01 RMS = 2.759E+01
Tot # Evts = 49994 Entries= 3015 Undersc= 0 Ove




# events,/bin

2000

1500

1000

500
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X-sect = 0.000E+00(pb) AVG =7.789E-04 RMS = 7.915E-01

Tot # Evts = 49992 Entries = 24392 Undersc= 0 Over
X-sect = 6.457E+01(pb) AVG = 3.521E-03 RMS = 8.007E-01
Tot # Evts = 49994 Entries = 23346 Undersc= 0 Ove




# events,/bin

300

200

100

eta

X-sect = 0.000E+00(pb) AVG =-1.022E-02 RMS = 8.030E-01
Tot # Evts = 49992 Entries = 4981 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =-1.232E-02 RMS = 8.062E-01
Tot # Evts = 49994 Entries= 4382 Undersc= 0 Ove




# events,/bin

2000

4000

3000
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1000

X-sect = 0.000E+00(pb) AVG =-4.290E-03 RMS = 1.582E+00
Tot # Evts = 49992 Entries = 47202 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =-6.116E-03 RMS = 1.638E+00
Tot # Evts = 49994 Entries = 46762 Undersc= 0 Ove




# events,/bin

3000

<000

1000

] ttbar

— 1 —
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X-sect = 0.000E+00(pb) AVG =-8.502E-04 RMS = 1.764E+00
Tot # Evts = 49992 Entries = 37050 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.436E-03 RMS = 1.804E+00
Tot # Evts = 49994 Entries = 35401 Undersc= 0 Ove




# events,/bin

1500

1000

500

X-sect = 0.000E+00(pb) AVG =-2.606E-03 RMS = 1.891E+00
Tot # Evts = 49992 Entries = 22064 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =-6.029E-03 RMS = 1.943E+00
Tot # Evts = 49994 Entries = 19447 Undersc= 0 Ove




# events,/bin

2000

4000

3000

2000

1000

X-sect = 0.000E+00(pb) AVG = 1.455E-03 RMS = 7.985E-01
Tot # Evts = 49992 Entries = 24392 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 3.427E-03 RMS = 8.072E-01
Tot # Evts = 49994 Entries = 23346 Undersc= 0 Ove




# events,/bin

800

600

400

200

X-sect = 0.000E+00(pb) AVG =-1.240E-02 RMS = 8.094E-01
Tot # Evts = 49992 Entries = 4981 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =-1.643E-02 RMS = 8.104E-01
Tot # Evts = 49994 Entries= 4382 Undersc= 0 Ove




# events,/bin

30

<0

10

X-sect = 0.000E+00(pb) AVG =-4.648E-02 RMS =8.237E-01
Tot # Evts = 49992 Entries= 199 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.692E-02 RMS = 8.182E-01
Tot # Evts = 49994 Entries= 130 Undersc= 0 Ove




# events,/bin

3000

<000

1000

X-sect = 0.000E+00(pb) AVG =-7.489E-03 RMS = 6.899E-01
Tot # Evts = 49992 Entries = 13787 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =-3.805E-03 RMS =6.983E-01
Tot # Evts = 49994 Entries = 11302 Undersc= 0 Ove




# events,/bin

300

200

100

X-sect = 0.000E+00(pb) AVG =-2.422E-03 RMS = 7.033E-01
Tot # Evts = 49992 Entries= 1961 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.765E-02 RMS = 7.165E-01
Tot # Evts = 49994 Entries= 1218 Undersc= 0 Ove




# events,/bin

20

15

10

X-sect = 0.000E+00(pb) AVG = 7.246E-03 RMS = 6.974E-01
Tot # Evts = 49992 Entries= 138 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =-5.667E-02 RMS = 7.389E-01
Tot # Evts = 49994 Entries = 75 Undersc= 0 Ove




# events,/bin

1000

500

100

o0
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DeltaR

X-sect = 0.000E+00(pb) AVG =2.472E+00 RMS = 9.082E-01
Tot # Evts = 49992 Entries = 21861 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.519E+00 RMS = 9.080E-01
Tot # Evts = 49994 Entries = 20465 Undersc= 0 Ove




# events,/bin

200

100

20

20

10

DeltaR

X-sect = 0.000E+00(pb) AVG =2.359E+00 RMS = 1.056E+00
Tot # Evts = 49992 Entries= 3707 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.417E+00 RMS = 1.056E+00
Tot # Evts = 49994 Entries= 3025 Undersc= 0 Ove




# events,/bin

2000

1000

000

200

100

o0

DeltaR

X-sect = 0.000E+00(pb) AVG =2.292E+00 RMS = 9.780E-01
Tot # Evts = 49992 Entries = 40005 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.337E+00 RMS = 9.516E-01
Tot # Evts = 49994 Entries = 42645 Undersc= 0 Ove




# events,/bin

500

100

o0

10

R(jetl,taul)

(@)

DeltaR

X-sect = 0.000E+00(pb) AVG = 2.403E+00 RMS = 8.450E-01
Tot # Evts = 49992 Entries = 12759 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.444E+00 RMS = 8.622E-01
Tot # Evts = 49994 Entries = 10205 Undersc= 0 Ove




# events,/bin

100

o0

<0

10

DeltaR

X-sect = 0.000E+00(pb) AVG =2.376E+00 RMS = 9.450E-01
Tot # Evts = 49992 Entries= 3056 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.383E+00 RMS = 9.553E-01
Tot # Evts = 49994 Entries= 2727 Undersc= 0 Ove




# events,/bin
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t1tl~
E | | | | | | | | | | | | | | | | | | H | | E
0 1 2 3 4 5
DeltaR

X-sect = 0.000E+00(pb) AVG = 2.140E+00 RMS = 8.404E-01
Tot # Evts = 49992 Entries = 4981 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.191E+00 RMS = 8.333E-01
Tot # Evts = 49994 Entries= 4382 Undersc= 0 Ove




# events,/bin

103

o ||||‘

DeltaR

8

X-sect = 0.000E+00(pb) AVG =2.057E+00 RMS =9.278E-01
Tot # Evts = 49992 Entries = 20815 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =2.117E+00 RMS = 8.811E-01
Tot # Evts = 49994 Entries= 21680 Undersc= 0 Ove




# events,/bin
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i titl~ ]
: | | | | | | | | | | | | | | | | | | | :
1 2 3 4
DeltaR

X-sect = 0.000E+00(pb) AVG =1.962E+00 RMS = 9.289E-01
Tot # Evts = 49992 Entries = 4153 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.036E+00 RMS = 8.722E-01
Tot # Evts = 49994 Entries= 4087 Undersc= 0 Ove




# events,/bin
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o0

10

R(bl,taul)

(@)

DeltaR

9] IIII|

X-sect = 0.000E+00(pb) AVG =2.130E+00 RMS = 7.344E-01
Tot # Evts = 49992 Entries= 6762 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.116E+00 RMS = 7.509E-01
Tot # Evts = 49994 Entries= 5094 Undersc= 0 Ove




# events,/bin

o0

20

10

R(b2,taul)

DeltaR

X-sect = 0.000E+00(pb) AVG =2.021E+00 RMS =7.411E-01
Tot # Evts = 49992 Entries = 1453 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.973E+00 RMS = 7.478E-01
Tot # Evts = 49994 Entries= 923 Undersc= 0 Ove




# events,/bin
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0 1 2 3 4

DeltaR

X-sect = 0.000E+00(pb) AVG =2.173E+00 RMS =8.727E-01
Tot # Evts = 49992 Entries= 1609 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.198E+00 RMS = 8.877E-01
Tot # Evts = 49994 Entries= 1392 Undersc= 0 Ove




# events,/bin
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0 1 2 3 4 5
DeltaR

X-sect = 0.000E+00(pb) AVG =2.121E+00 RMS =8.411E-01
Tot # Evts = 49992 Entries= 318 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.067E+00 RMS = 8.516E-01
Tot # Evts = 49994 Entries= 233 Undersc= 0 Ove




# events,/bin

500

100

o0

10

R(11,taul)

o ||||‘

DeltaR

on ]

X-sect = 0.000E+00(pb) AVG =2.196E+00 RMS = 8.213E-01
Tot # Evts = 49992 Entries = 10264 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.199E+00 RMS = 8.319E-01
Tot # Evts = 49994 Entries= 9766 Undersc= 0 Ove




# events,/bin

100
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20

10
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1 2 3 4
DeltaR

X-sect = 0.000E+00(pb) AVG =2.232E+00 RMS = 9.523E-01
Tot # Evts = 49992 Entries = 2509 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.230E+00 RMS = 9.493E-01
Tot # Evts = 49994 Entries = 2555 Undersc= 0 Ove




# events,/bin

=20

10

R(taul,al)

DeltaR

X-sect = 0.000E+00(pb) AVG =2.211E+00 RMS = 8.649E-01
Tot # Evts = 49992 Entries= 812 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 2.220E+00 RMS = 8.431E-01
Tot # Evts = 49994 Entries= 597 Undersc= 0 Ove




# events,/bin
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m(jetl jet?)

| L

100 200 300 400
mij

X-sect = 0.000E+00(pb) AVG = 1.605E+02 RMS = 1.088E+02
Tot # Evts = 49992 Entries = 34635 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.470E+02 RMS = 1.016E+02
Tot # Evts = 49994 Entries = 33772 Undersc= 0 Ove




# events,/bin

2000

1000
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<0

10

m(jetl, jet3)

100 200 300 400
mij

X-sect = 0.000E+00(pb) AVG =1.417E+02 RMS = 1.019E+02
Tot # Evts = 49992 Entries = 20953 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.297E+02 RMS =9.621E+01
Tot # Evts = 49994 Entries = 18716 Undersc= 0 Ove




# events,/bin

000

100
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10

m(jetl,jet4)

(@)

100 200 300 400
mij

500

X-sect = 0.000E+00(pb) AVG = 1.354E+02 RMS = 9.803E+01
Tot # Evts = 49992 Entries = 10115 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.246E+02 RMS = 9.483E+01
Tot # Evts = 49994 Entries= 7989 Undersc= 0 Ove




# events,/bin

2000

1000

500

200
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o0

20

m(jet2,jet3)

100 200 300 400
mij

X-sect = 0.000E+00(pb) AVG = 1.165E+02 RMS = 9.698E+01
Tot # Evts = 49992 Entries = 21305 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.073E+02 RMS =9.102E+01
Tot # Evts = 49994 Entries = 18925 Undersc= 0 Ove




# events,/bin

1000
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200

100
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m(jet2,jet4)

o |||‘

100 200 300 400
mij

X-sect = 0.000E+00(pb) AVG =1.132E+02 RMS = 9.382E+01
Tot # Evts = 49992 Entries = 10224 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.037E+02 RMS = 8.936E+01
Tot # Evts = 49994 Entries= 8044 Undersc= 0 Ove




# events,/bin

1000
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100 200 300 400
mij

500

X-sect = 0.000E+00(pb) AVG =9.621E+01 RMS = 8.846E+01
Tot # Evts = 49992 Entries = 10341 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =9.000E+01 RMS = 8.455E+01
Tot # Evts = 49994 Entries= 8101 Undersc= 0 Ove




# events,/bin

1000

500

100

o0

10

— ttbar —
= t1tl~ E
| | | | | | | | | | | | | | | | | | |
100 200 300 400
mij

500

X-sect = 0.000E+00(pb) AVG =1.736E+02 RMS = 1.062E+02
Tot # Evts = 49992 Entries = 20828 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.561E+02 RMS = 9.658E+01
Tot # Evts = 49994 Entries = 20038 Undersc= 0 Ove




# events,/bin

100

o0

10

T

C3|||||

100 200 300 400
mij

X-sect = 0.000E+00(pb) AVG = 1.342E+02 RMS = 9.947E+01
Tot # Evts = 49992 Entries = 3627 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.203E+02 RMS =9.167E+01
Tot # Evts = 49994 Entries= 3018 Undersc= 0 Ove




# events,/bin

1000

500
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100

o0
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10

\

100 200 300 400
mij

X-sect = 0.000E+00(pb) AVG =1.369E+02 RMS = 9.733E+01
Tot # Evts = 49992 Entries = 14322 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.218E+02 RMS = 8.803E+01
Tot # Evts = 49994 Entries = 12550 Undersc= 0 Ove




# events,/bin
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100 200 300 400 500

mij

X-sect = 0.000E+00(pb) AVG = 1.095E+02 RMS = 8.612E+01
Tot # Evts = 49992 Entries = 2206 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =9.774E+01 RMS = 7.880E+01
Tot # Evts = 49994 Entries= 1590 Undersc= 0 Ove




# events,/bin
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100 200 300 400
mij

500

X-sect = 0.000E+00(pb) AVG =1.213E+02 RMS = 8.820E+01
Tot # Evts = 49992 Entries= 7703 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.076E+02 RMS = 8.005E+01
Tot # Evts = 49994 Entries= 5922 Undersc= 0 Ove
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X-sect = 0.000E+00(pb) AVG =9.945E+01 RMS = 8.104E+01
Tot # Evts = 49992 Entries= 1118 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =8.570E+01 RMS = 6.946E+01
Tot # Evts = 49994 Entries= 689 Undersc= 0 Ove
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100

o0

10

—_

OIIII‘

100 200 300 400 500
mij

X-sect = 0.000E+00(pb) AVG =1.148E+02 RMS = 8.561E+01
Tot # Evts = 49992 Entries = 3461 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.001E+02 RMS =7.825E+01
Tot # Evts = 49994 Entries = 2245 Undersc= 0 Ove
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X-sect = 0.000E+00(pb) AVG =9.052E+01 RMS = 7.506E+01
Tot # Evts = 49992 Entries= 491 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 7.915E+01 RMS = 6.089E+01
Tot # Evts = 49994 Entries= 253 Undersc= 0 Ove
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X-sect = 0.000E+00(pb) AVG = 1.245E+02 RMS = 8.363E+01
Tot # Evts = 49992 Entries = 39675 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.287E+02 RMS = 8.466E+01
Tot # Evts = 49994 Entries = 42248 Undersc= 0 Ove
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X-sect = 0.000E+00(pb) AVG = 1.008E+02 RMS = 7.480E+01
Tot # Evts = 49992 Entries = 30625 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.054E+02 RMS = 7.594E+01
Tot # Evts = 49994 Entries = 31824 Undersc= 0 Ove
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X-sect = 0.000E+00(pb) AVG =8.975E+01 RMS = 7.438E+01
Tot # Evts = 49992 Entries = 17458 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =9.497E+01 RMS = 7.558E+01
Tot # Evts = 49994 Entries= 17119 Undersc= 0 Ove
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X-sect = 0.000E+00(pb) AVG =8.247E+01 RMS = 7.257E+01
Tot # Evts = 49992 Entries= 7918 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG =9.025E+01 RMS = 7.564E+01
Tot # Evts = 49994 Entries= 7138 Undersc= 0 Ove
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X-sect = 0.000E+00(pb) AVG =1.483E+02 RMS = 9.752E+01
Tot # Evts = 49992 Entries = 4843 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.282E+02 RMS =8.123E+01
Tot # Evts = 49994 Entries= 4355 Undersc= 0 Ove
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X-sect = 0.000E+00(pb) AVG =1.070E+02 RMS = 7.007E+01
Tot # Evts = 49992 Entries = 20764 Undersc= 0 Over

X-sect = 6.457E+01(pb) AVG = 1.114E+02 RMS =6.971E+01
Tot # Evts = 49994 Entries = 21620 Undersc= 0 Ove




